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SA 22ED
I it SL(2s 2/ 2E)
B©el 2ESE U AN (Sl &9)
- z 5 " AT =
M- 33 - SRA(ZIA) - MISRAR - BES O kR 01l AkoH Hlws2
OFQzAX 2A0IM0l SRS
50,0008 * 5JH4 * 128 3,000
O4HIZ2Y BRI S4R3 30,0008 * 122 360
ootz saea 15,0008 * 12 180
O0lSA! 22ot4 22 5,000,0002 * 14 5,000
301 LerENZ 20,000 10,000 10,000
12 JIEI2 &S 20,000 10,000 10,000
OLF 2ZEA 29 10,000,000& * 14! 10,000
OFY £0| IF AKX 32 X J1€S
10,0002 » 5002 * 23| 10,000
307 212H0IA 10,000 70,000 60,000
05 QIZI9IEZ 10,000 40,000 A30,000
Oozztdex 2 10,000,000& * 14! 10,000
308 AHXIEHISOIH 200,000 0 200,000
07 XIS e 2 200,000 0 200,000
OZAST2HZXEIIZ 200,000,0002 * 14 200,000
401 AlEHIZ =20 104,000 64,000 40,000
01 Al&Hl 104,000 64,000 40,000
OZ=FANA SEAZOHAT X
30,000,000& * 27HA 60,000
O=ReIH=I| &X 5,000,000 * 22 10,000
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25,000,000 * 17HA 25,000
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20,000,000& * 14! 20,000
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Ozzees Y HAS E2RA 29 24,000
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301 LetENZ 128,000 113,000 15,000
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OME(Ta)2a a43 220y 29 X 30,000
—d2(y)2Y 243 Z20Y
25,000,0002 * 14! 25,000
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2A 2AZEED
HE: 2L SH(2Sh 2/ 2)
el 2AZAEE o A4S (Sl &)
- _ A
SA - ZH - AA(3) - MIRAY - BHAS Off &K 'Oﬂ,‘qou HwsS2
308 KtXISHHISOIH 25,000 0 25,000
07 IXISHRE S 25,000 0 25,000
OSSXNL#HAFAS 224EMY L 2S0BHE
25,000,000& * 1A 25,000
QEXRLEY 2Pt 636,000 179,000 457,000
201 LBEH=23H| 20,000 25,000 A5,000
03 A2 20,000 20,000 0
OEF2EAHY E2 ZEU3 M=
20,000,000 * 13 20,000
207 H=1HEH] 20,000 0 20,000
02 &N 20,000 0 20,000
OGS EHLE 2Y SH0IXK 7=
20,000,000& = 1A 20,000
401 AIEHIZ2THYI 596,000 154,000 442,000
01 A&t 596,000 154,000 442,000
OS=SLEHLE RS>
8,000,000& * 128 96,000
Og=3ETEE 8 AN & 22l
100,000,000 * 14 100,000
OS=SQEHLE ST A4 =4
400,000,000& * 14! 400,000
Al 223 2EXIA 80,000 80,000 0
307 212H0| & 80,000 80,000 0
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OZZEOZ| AIR= 2Y(ExE8 TH)
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A 2Z2H= SSEMHER &4 40,000 1,000,000 960,000
201 B2 3| 20,000 0 20,000
03 A2 20,000 0 20,000
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20,000,000 * 1A 20,000
401 AIEHIZ 21| 20,000 1,000,000 A980,000
01 Al&H] 20,000 1,000,000 980,000
OgxA 222H=x SSEHES |2
20,000, 000& J * 14 20,000
ASero| HZAE T NS (ZHEXA) 35,000 21,000 14,000
308 KX SHHMSOIH 35,000 21,000 14,000
1 S 2SOCHEH B A X EAIS ] 35,000 21,000 14,000
OZ=ero| 2SI XA
35,000,000 * 1A 35,000
(Z) 2 AZHEA SE(2HEAY) (HEAIY) 437,661 334,800 102,861
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Ozt oiE A &=l XA
437,661,000& = 1A 437,661
& 66,960
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& 3,720
Al 20,594
201 L2 ZH| 24,314 23,249 1,085
= 3,720
Al 20,594
01 AtS2teldl 24,314 18,600 5,714
OFst2Zoi&At S-=ZHLAY
24,314,0008 » 14 24,314
= 3,720
Al 20,594
() 23I2ZoHEAL MEEES K (HEAIS) 6,079 0 6,079
= 930
Al 5,149
201 LBH23H| 6,079 0 6,079
= 930
Al 5,149
02 2323l 6,079 0 6,079
O=st2 A dolE2E=
6,079,000& * 14 6,079
& 930
Al 5,149
(D)SAIZEAMZE HSBAY F=A 24,000 24,000 0
= 4,000
Al 20,000
308 AXISHMSOIA 24,000 24,000 0
= 4,000
Al 20,000
07 REXIEH2HREZ 24,000 24,000 0
Oz==sa BRASHs BE 2%
24,000,000& * 14 24,000
& 4,000
Al 20,000
(D)RUIAD AISA A4S 2 XA 27,000 27,000 0
& 8,000
Al 19,000
307 QI2t01 & 27,000 27,000 0
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2A 2EUEL
A AN SH(S2E/2)
el 2AZEE ¥ 43HE (el &)
S - R - SRIEH) - ARAY - BAS e G HIDE2
= 12,000
Al 28,000
22N S (St 22/ 22) 1,053,000 952,000 101,000
ASEN 54 # 82 27,000 40,000 /13,000
= AR BE2H 27,000 0 27,000
307 212401 27,000 0 27,000
02 QI A E X 27,000 0 27,000
Odx 22X AR S2E(EXE 90%)
30,000,000& = 141 = 90/100 27,000
=2t 1,026,000 912,000 114,000
= EHI 2 =M 540,000 480,000 60,000
308 XA SOIA 540,000 0 540,000
11 SIS0t B S AS A I 540,000 0 540,000
OgF=t=dtIZ3=R 540,000,000& * 14 540,000
S AMMARTIXA 180,000 160,000 20,000
308 AXIEHHISOIH 180,000 0 180,000
11 SIS0t 3 &S ASAIZ I 180,000 0 180,000
Og=AMMEEN 180,000,000& * 14 180,000
SFREAURLCIFEMAIE 81,000 72,000 9,000
308 AXIHHSOIA 81,000 0 81,000
11 SI 2SIt 3 & HASAIZ I 81,000 0 81,000
OEF=24AUSLLeIEM 81,000,0003 * 14 81,000
ARSI XY 225,000 200,000 25,000
308 XA SOIA 225,000 0 225,000
11 SIS0t B &S ASAIZ I 225,000 0 225,000
OSFAtSH 225,000,000& * 14 225,000
KSALE] 283t SAEH (2ot et /22) 1,000,000 0 1,000,000
= 500,000
Al 500,000
KSAel gdal 24Xy 1,000,000 0 1,000,000
[ 500,000
Al 500,000
(F)XFAB 2Lt 82t 1,000,000 0 1,000,000
[ 500,000
Al 500,000
401 AlEHIZL SO0 1,000,000 0 1,000,000
= 500,000
Al 500,000
01 Al&H] 993,700 0 993,700
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EA: 2ZX=SD
M 2T 2512 22/ 22)
Chl: ZH2EXOHE (42 &)
S - EE . C(BI) - KISALY - BAS Ofl kot P MimE==T
= - ST o= 0:"&.0_‘” Wsea
OEAAZZX] 22UH(=E2H, HI9EH] §)
X122 5,000,002 * 14! 5,000
OEAAZR| SHEA 2 2204 A2 29
52,000,000&! = 14l 52,000
OSANZRX 240 £X 24 8
2,500,000& = 33| 7,500
OBMARZX =XE(UE, A8") H=&Y
4,000,000 * 34 = 23] 24,000
ORHARET FZ4 22
5,000,000 = 14l 5,000
OEMAZZX &MI|otX 22| 3 =2
180,000& 12 2,160
SMAARZR TS HASX] 0 (0LRel)
510,000,000 * 14! 510,000
() 22X N (S ARRIZX]) (HEAFS) 4,025,000 1,200,000 2,825,000
= 2,133,000
Al 1,892,000
401 AlEH|LE0HY] 4,025,000 1,200,000 2,825,000
°c 2,133,000
Al 1,892,000
01 Al&HI 4,014,133 1,195,680 2,818,453
OAAF 22X AL
4,025,000,000& = 14! = 99.73/100 4,014,133
°c 2,133,000
Al 1,881,133
03 AIE£0HY| 10,867 4,320 6,547
OEAA 22X LA 10,867,000 = {A! 10,867
e o e | 528,594 280,000 248,594
2H22H T O| x| & 528,594 280,000 248,594
101 Q1244 8,794 0 8,7%
04 J1I2tHI22XsEE 8,794 0 8,7%
O20I2Z23 Ald=22e] 82Y
73,280& = 1¥ ~ 10 » 128 8,794
201 LB AH| 14,800 0 14,800
01 AF22t2|H| 1,000 0 1,000
Os0IRZ2E 29 HIE s 2¢
1,000,000 * 144 1,000
02 22244| 13,800 0 13,800
O20IR123 MIIe=2 800,000& * 12& 9,600
O=HHI0I2Y MIILQ2(IIRS, HRAEXAlL,
SOHEEXIAIA) 350,000& = 128 4,200
401 AlEH|ILE0HY] 505,000 280,000 225,000
01 Al&H] 502,120 280,000 222,120
O20I222 Al&Z2(et=2X1e] &, JHHIHIZI0¢,
A el2gal 80,000,000 = 14! 80,000
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Oalzotdae| JEENEH| AMEBE
37,4003 * 48 « 12& 1,796
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—IglH =2 100,000& = 5CH = 50/100 250
—SADI EY 200,000 = 53 = 104 1,000
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